S22 FEREFRRHANBE RERE

I3RS 97 THETH EhE &t
BRI e | o o || AR e | o || BERERE w | o %
(B BRfEE S | MR AKK (8) BRMEE S | R AR (B BRIEER | MBAK
K2 . A 3 3 337
s 2 2 282 1 1 b5
Kt -1 -2  -193
\ 2 2 150
= 0 0 0 2 2 150
B ER > 5 150
N 17 18 2,594
B 0 0 0 17 18] 2,594 -
R -5 —4 -693
BRI - 4 4 57
S 1 1 12 3 3 45
H LS -4 -5  -137
. 2 2
INFREERE 0 0 0 2 2 49 19
-84
91
F D, 0 0 0 3 3 91 5
2t 3 3 294 28 29| 2,984 31 32 3, 278
s —4 -b -521 -3 -3 -431 -7 -8 -952
K RANIL, BLEDO NS, M@ENTE ST, BIFEE & OBED 2=
[KE-BX-KERE]
No. FE it A FhaEH H B KIGEEE | SIS k=
(W 32 i)
1| & G5 S5 R R2.10.1  |WRNKIR A R 1, 24 9544
2| ENH T B S R2.11.5  |HILALE TR K 1~ 44 18744
GILIESES )
1 et R2.6.18  |WS7 AR R 14 5544
[E=E4])
No. ESy/TRREYN FEhaEH B S KGR | A S
QIR ES D)
1 e R2.11.9  |EZIRBEEERSE LR 8 B i 1~ 34 11244
) 7 R2.12.2 | FHPRAN B P 52 14 384




[E#]

No. Fhti £ AR FEhEH H AR RIRFE | I ik
CELIESES D)
1 R2.7.9 LTI AL & 2 A 34 2874
2 R2.7.15 ER NIy 2 - 3134
3 1A R2.12.9 b1y NE AN A=A 24 31444 |FAFLEE & B[R]
4 R2.12. 15  |BESZ IR R i 25 224 1 4% 23244 |FLBLZE & & IF
5 R3. 3. 23 VAT LT T 3mSR 2 23244
6 KR T R2. 10. 2 VN OR IR B GE A 5 5 AR 14F 1994,
7 B e T R2.6. 11 VRST8] P v 5 AR L LR 3 4 194
8 ESCINANG1] R3. 3. 19 WL ST FE] VT T3 i A5 2 10544
9 Rt R3.2.16 VST B (L BT 5 S AR 2 4 23844
10 K R2. 11. 17 |BIFHE m 2 A 34 2074 | FLRL = & A TR
N R2.12.3 . s 1 4F 474,
11 FEAEIR T T RURE WAST AR 1L & 25 AR Y v
12 RYLET R2.12.10 W7/ IR & 55 A 34 704
13 B¢ BT R2.10.28  [BSTHEAL S SR E& 34 214
14 R T R3.2.10 SRVt 2 834
15 /IN[EHT R3. 2. 15 [ESVAANES P 25 2 4 214
16 I JEE T R3. 2. 12 W ST TR R 25 AR 2 4 354
17 Wl iy R2.9.8 W T S 1B S AR R 1154

(Rl X EFE - B EPR]

No. St A FEhHH H TR KR FH | SN ik
(R S i)
1 FNS R2.12.18 |31 X 0 FHFHEFHL FE 1 ~ 34 124
LI ES D)
1 KR T R2.12. 11 BN KR #E AR 34 134
2 e [ T R2. 10. 2 WEL N7 AR ] 2 5 A RS 3 A 4
3 A= R2.11.17 VA7 bl & S i i 2 i 254
(/)N - 2Eds]
No. FE it A FNF A H IR KIRTFE | I i 5
LIRS ES D)
1 LT R2.12.8 AN VA=Y VI NE2 5 6 234
2 [EpAILi) R2.7.27 VA HETSEPE )/ NFAR 4 2644
[ZD4h]
No. FEhiti EAR A H Fhii L 7= AT SN ik
LIRS ES (D)
1 LT R2. 4.6 (LI A% pir 614 | BT Tk B
2 ESCIPANGTH] R2.9.3 J AZERTE AL 1344 [T HLE ek B
3 KE R2.4.7 KE BT 174 | BBl £ Ik B




